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If according to 29 who says, etc. — 9912 T2RT 299 9N

Overview

"X explains that the mw: 7¥ of the 7wn includes Wwn1 1120 112X that caused
damage after they came to rest. When the X713 considers the option that we
are discussing a case of 171poR XY, there is a discussion why is there a need
for a mwn 7¥ according to PXAw, since it is similar to 712? In some texts the
X131 asked the same question according to 27 (who maintains that all 2P
TIPOR K97 are derived from W), why is a mwin ¥ necessary if we can
derive it from 7W. NBOIN maintains that this is an incorrect reading of the
text and should be omitted. There was never a difficulty according to 27 by
PR KXY, According to 27 we can be discussing a case of X7 n™DR
117PoX and we derive it only through a mwn 7x.

19999 99U9999 199093 NY
We do not read in our text the phrase MW 11°°77 11727 1MW 09212 MRT 277 X,
as we explained previously’

Summary
The text does not read T 13°°77 13727 1WA 2910 INKT 277 K.

Thinking it over

Initially the X3 asked 712 137 DR P2 279 12 173PRT K, and then the
X7a reconsidered and said that 1771°9p9R is not like 712 since M2 is NN 11D X
12 27w, Let us say the same concerning 27, that initially the X773 thought
that by 12°9poR X2 we derive »™oX from W, and subsequently we realize
that it cannot be derived from 7w alone (since MW is a 1"v2) and a MWn 7X is
required. Why cannot the X073 be 121 27 °X?!

"y 9w 77 moon 2,3 77. Even though 11 maintains that 11727 Y wn 0913, it does not mean that 3w 2" OR
7937 N2 P 3% M2 1750 133 WA can be derived directly from w. We can refute this 1201 1, for 1w
is @1 mn 2w (and P°137 WMD) which is not true by n"oR. Rather 27 means to say that n"1oR can be
derived through a mwi 7 from 7w and M2. It is now understood that we cannot ask why do we need the 7%
mwn (by n"oX) according to 27; let us derives it directly from 7w, for according to 27 we derive n"1oX only
from a mw: 7% of 72 MW, and not from MW alone.
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